
&RPSHWLWRU�/LVWLQJ�%\�6TXDG
3ULQWHG�OLHSD���������DW������

1R� 1DPH &OV'LY &DW 6TG 7DJ

/LWKXDQLD�2SHQ

5HJ$OLDV

� %DNVD��*LHGULXV 3� � /78%$.6$
� )LOWVDJLQ��$QGUHL 3� � (67
� )LOWVDJLQ��0LKKDLO 3� � (67
� -HPHOMDQRY��'PLWUL 3� � (67
� .QMD]HY��6HUJHL 3� � (676(5==
� 0HQNHOLXQDV��7RPDV 3� � /787208.$=
� 6KDVKNRY��$OHNVHM 3� � /78/(+0(1
�� 6KDVKNRY��$QGUHM 3� � /78$1'5(-
� 6LURWNLQ��2OHJ 3� � (67
� 6LXQLDNRX��$QGUHL 6� � /78$1'-,.
�� $GLNOLV��*HGLPLQDV 5�� � /78*(',0,1$6
�� $VWUDXVNDV��6DXOLXV 3� � /786$8/,.$6
�� $WPDQDYLFLXV��9ODGLPLUDV 3� � /789/$'$6
�� %DUDQDXVNDV��$QWDQDV 3� � /78721,6
�� &LDSDV��(GJDUDV 3� - � $/78-(5,&+2
�� &LEXOVNLV��'RQDWDV 3� � 3/78'21&(
�� .XFNDLOLV��(UQHVWDV 3� � /78%20%(5
�� 0LNODVHYLFLXV��9DLGDV 3� � /789$,'$6
�� 0LNXWLV��0LQGDXJDV 3� � /780,1'$8*$6
�� 3DODLPD��(JLGLMXV 3� � /78(*,6
�� 6XUYLOD��6LJLWDV &3� � /7866666
�� 9LOLXOLV��*LHGULXV 3� � /786(5$),0$6
�� $PHU��$QGU]HM 6� 6 � 32/3$32
�� $PHU��7RPDV] 6� - � $32/720&,2
�� %LHOLQVNL��-DURVODZ &6�� � 32/-$526/$:
�� %XU]HF��:LHVODZ 6�� 6 � 32/:(66
�� .RSLHF��.DURO %3� � 32/.232/
�� .RSLHF��0DULDQ &3� 6 � 32/'210$5,$12
�� .XF��0DFLHM 6� � 32/
�� 5XV]NLHZLF]��3DZHO 6�� � 32/3527(&+
�� $EROLQV��$UWXUV 6� � /$7
�� %UDWXVKNLQV��$UWXUV 6� � /$7
�� ']HULQV��0DULV 6� � /$7
�� -LUMHQV��+DULMV 6� 6 � /$7
�� .UDXNOLV��0DUWLQV 6� � /$7
�� 5HNODLWLV��=LJPDUV 3� � /$7/(*(1'/9
�� 6LDXFLXQDV��-XOLXV 6�� 6 � /78-8/,866
�� 9DUDQDYLFLXV��*HUXWLV 6�� � /78*(587,6
�� 9LVLWRYD��%HOD 6� / � $/$7
�� =DULQV��$JULV 6� � /$7
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5HJ$OLDV

�� %DUDQDXVNDV��9\WLV 2�� � /789<&,2.8
�� %HNWHPLURY��5LQDW 6� � /785,1$7
�� %HOVNLV��$OHNVDQGUDV 5�� � /78%$/(;
�� *HQ\WH��,ORQD 6� � /78,/21$
�� *LUJ]G\V��*HGLPLQDV 6� � /78*(',6
�� *UDOLDXVNDV��$UXQDV 5�� � /78*5$/,6
�� 0DUNHYLFLXV��.HVWDV &2�� � /78.(6.$
�� 6LOHLND��'DOLXV 3� � /787$1.,67$6
�� 6OXQLQ��$QGUHM 6� � /78$1'5(,.$
�� 6WDYFHYDV��9LWDOLMXV &2�� � /78;20$
�� 9HOLFNR��/DXULXV &6�� � /78602*
�� 0HLQHU��0DULQD 6� / � $(670$5,1$
�� 0RUNXQDV��9\WDXWDV 6�� � /789<7$87$6
�� 1DYLFNDV��6DXOLXV 6�� � /787$1*2�
�� 5XVVNLNK��0LNKDLO 3� � 586
�� 6DSDODV��$QWDQDV 3� � /78$17$1$6
�� 6LPRQRYD��-HOHQD 3� / � $(67
�� 6WDWQLF��9LFWRU 3� � 0'$
�� 7HPPR��$OHNVDQGHU 3� � (676$66
�� 7RSRULYVNLM��,JRU 3� - � $0'$
�� 9DOHQWLQDYLFLXV��6DXOLXV 6� � /780$75,&$
�� %DELWV��/DV]OR &6� � +81%$%,76
�� %DOWUXVDLWLV��6LPRQDV 3� � /786,021$6
�� %LQNHYLFLXV��5DPXQDV 3� � /785$0$6���
�� &HUHVND��'HLYLGDV 3� � /78'(,9,6
�� ']LDXJ\V��6DXOLXV 3� � /786$8/,86���
�� -DJPLQDV��=LOYLQDV 5�� � /78=$/7<6
�� /LHNLV��6DUXQDV 6�� � /785$'9$1$6
�� 5LPNHYLFLXV��-XR]DV 6�� 6 � /7881&/(-2(
�� 5LWYDV��$ORQDV 6�� � /78$(523,/27
�� 9DLFLXOLV��$UXQDV 3� � /78$581$6
�� )HGRUFKXN��$OHNVDQGU 3� � 8.5
�� *ULQFHQNR��9LWDOLMXV 3� � /789,7$/.$
�� ,OMLQD��-HOL]DYHWD 3� - � 3/78),2/$
�� -DNLPRY��'HQLV 6� � /78'$1,
�� 0LVKDNRY��*HQDGLM 3� 6 � /780(60(5
�� 0LVKDNRYD��7DWMDQD 3� / � $/785$6$
�� 1DJLUQHDN��,XULL 3� � 8.5
�� 1DVDOFKXN��$QDWROL\ 3� � 586
�� 3URVNXULDNRY��$QGUHL 3� � 528.5
�� 6KLVKPDNRY��(YJHQLL 3� � 8.5
�� =DPHUHF��$OHNVDQGU 3� � 8.5
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5HJ$OLDV

�� %HDXYLOOLHUV��$QQH 2�� / � $)5$
��� 'DKOHQEXUJ��+DQV 6�� 6 � *(5
��� 'RVH��.ODXV3HWHU 3� 6 � *(50$*180,,
�� 'XPRQW��-RVH 6�� 6 � )5$
�� (ILPRY��(YJHQ\ 3� 6 � 586
�� *UX]PDQRY��.RQVWDQWLQ 3� � 586
�� 6KFKHWLQLQ��6HUJH\ 3� � 586
�� 6KXVKSDQRYD��(OL]DYHWD 3� / � $586
�� 7DUDVHQNR��$OHNVDQGU '6�� � /78$/(;�
�� 9ROXWVD��9\DFKHVODY 3� � 586
��� ,YDQRY��9MDWVHVODY 3� �� (677(037(5
��� ,]PDJLORY��5HQDW 3� �� 586
��� .XSUL\DQRY��.LULO 3� �� 586
��� /D]DULGL��,JRU 3� �� (67
��� /XSLWVNL��$OHNVHL 3� �� (67
��� 3XQWXVVRY��$OHNVDQGU 3� �� (67
��� 5R]KNRY��$UWHP 3� �� /78$57(0
��� 6WHSDQRY��$QGUHL 3� �� (67
��� 6X]GDOWVHY��9LNWRU 3� 6 �� (67
��� %DU]GHQDV��$QWDQDV %3� �� /783+,/,3$6
��� &L]DV��'RQDWDV 3� �� /786+$0$/
��� *RFHOGD��6DXOLXV 3� �� /78.823$���
��� *ULJDUDYLFLXV��(JLGLMXV 3� �� /78*(0$/$6
��� .XQLJLVNLV��5REHUWDV 3� �� /7852%(57$6
��� 0DWXVHYLF��-HYJHQLM '3� �� 3/78$*(17���
��� 'LU]\V��(JLGLMXV 3� �� /78(*$6
��� (LJPLQDV��0DULXV 3� �� /78(,*0,1$6
��� *XVKFK\Q��%RU\V 3� �� 8.5
��� -DQXOLRQLV��$UWXUDV 3� �� /78$5785$6
��� -DUXWLV��$UWXUDV 3� �� /78-$587,6
��� .DUSHQNR��9DOHULL 3� �� 8.5
��� .RSXVWDV��5REHUWDV 3� �� /7852%.(
��� 0LO\XNRY��$OH[DQGHU 3� �� 8.5$/.6
��� 3DVNDFLPDV��6DXOLXV 3� �� /783$6.$6
��� 9ROVNLL��$QGUHL 5�� �� 8.5
��� %LYLOLV��$UY\GDV 6�� �� /78(/3$%/2
��� *DUYH\��'DLUH 3� �� ,5/
��� +DYOLFHN��0LURVODY 2�� �� &=(
��� /LHKQH��=GHQHN 6�� �� &=(
��� /LOMHVWURP��'DQ 3� �� 6:(/,/-(67520
��� 0XOOHU��0LORV 3� �� &=(
��� 3RWRFN\��0DUWLQ 3� �� &=(
��� 9LOLPRYVN\��-DQ 3� �� &=(
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5HJ$OLDV

��� %XJDNRY��5XVODQ &3� �� /78%8*$.29
��� (ULNVHQ��+DYDU 3� �� 125
��� +DJHPDQQ��/DUV 3� �� '(1+$*(0$11
��� ,YDVNHYLFLXV��6DXOLXV 6� �� /78+$55<3277(5
��� -FREVHQ��-RVWHLQ 6�� �� 125
��� .DPHQLFHN��0DUWLQ *02�� �� &=(0$57,
��� 0LKKDLORY��9ODGLPLU 3� 6 �� (67929$1
��� 6\YHUVHQ��/DUV 6�� �� 125,&(0$1��
��� 8PEUXVHYLFLXV��-XUJLV %2�� �� /786$8/,86
��� 9RQ*UDYURFN*RHV��$QWRQ &6�� 6 �� /78$1721,6
��� 9\VQ\��0DULDQ 3� �� 69.
��� %DMHURZVNL��7RPDV] 3� 6 �� 32/(1'(0,7
��� %RUNRZVNL��/XNDV] &3� �� 32/2%,21(
��� )ODNLHZLF]��.U]\V]WRI &3� �� 32/7586.$:$
��� +DELRU��0DUHN 3� �� 32/
��� +RIIPDQQ��.U]\V]WRI '3� �� 32/.5=<+2
��� /HZDQGRZVNL��-DURVODZ 3� �� 32/<$5(.
��� /HZDQGRZVNL��3U]HP\VODZ 3� �� 32/
��� 2VWU]\FNL��-DFHN 6�� �� 32/2675<
��� 3RSODZVNL��*U]HJRU] 3� �� 32/*5=(+22
��� 5HGHFNL��7RPDV] %3� �� 32/720(.
��� 6ZLDWHN��-DQXV] '3� �� 32/'/8*,
��� =G]LWRZLHFNL��$QGU]HM &6�� �� 32/02175$/$
��� %HU]LQV��5HLQLV 3� �� /$7
��� %HVHQDV��9\WDXWDV 3� �� /78%(6(1$6
��� *ULJXFHYLFLXV��$UWXUDV 3� �� /78.$5$7<67$6
��� *XGHQMD��9DOHULD 6� / �� $/$7
��� +DQHV��'UDKRPLU 2�� �� 69.'5$*2
��� +UQFLDULN��$QGUHM 3� - �� $69.6285&(
��� -DQVN\��3HWHU 3� �� 69.$)*+$1
��� .OLVKDQ��-XULM 6� �� /$7
��� 3UDFNDLOD��$UXQDV 3� �� /78352&.$
��� =YLHGULV��$QGUHMV 3� �� /$7
��� %DHFNVWURHP��0DWV $6�� �� '(1'$/0$6�
��� )ULVWUXS��.ODXV 3� �� '(1
��� *UD]XOLV��$QGULXV 6�� �� /78%8//(73522)
��� *ULJRUMHY��.LULO 3� - �� $/78.,5,$
��� *ULJRUMHY��.RQVWDQWLQ 6�� �� /78.267,$
��� .LULXVFHQNR��-XULM 5�� �� /78-81$.$
��� 6FKLHFN��3HWHU 3� �� '(1=,*�
��� 6ODWYLFNLM��.RQVWDQWLQ 6�� �� /78.2167$17,1
��� 6XLVHOLV��0DULXV 3� �� /780$5,866
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5HJ$OLDV

��� 'PLWULMHY��'PLUWL 3� �� (67
��� *DYULORY��,JRU 2�� �� /$77,5(;
��� *ODGNRY��5XVODQ 3� �� (670(*$%/$67(5
��� +DXJOL��6WHLQDU 2�� �� 125
��� /HH��.\UUH 2�� �� 125
��� /LH��+DQV3HWWHU 2�� �� 125
��� 6DPXHOVHQ��7KRPDV 2�� �� 1256$00(51
��� 6KDYULQ��$OHNVDQGU 3� �� (67
��� 6SDUE\��)UDQN 2�� �� 125
��� %\UQH��3DWULFN 6�� 6 �� ,5/7+(6:,1*(5%<51(
��� &ODUH��-RKQ 6�� �� ,5/0257*$*(0$1
��� &OHJJ��,YRU 6� �� ,5/
��� &RRNH��3DWULFN 2�� 6 �� ,5/&22.,(
��� &XVVHQ��'DPLHQ 6� �� ,5/*,1*(51,1-$
��� *ULWVDN��'HQLV 3� �� ),1
��� 0F&ROJDQ��6WHYHQ 3� �� ,5/0&*22*,(
��� 2%ULHQ��.HUU\ 6� �� ,5/',//,1*(5
��� 3ROLVKVN��$QGUHL 3� �� ),1
��� :DWHUV��$QGUHZ 6�� �� ,5/
��� %DUUHWW��1LJHO 6� �� ,5/)5-$&.
��� 'XJJDQ��.HLWK 3� �� ,5/
��� *ULJDLWLV��0LQGDXJDV %3� �� /780,1'(
��� *XGDYLFLXV��(JLGLMXV 5�� �� 3/78(*,',-86
��� +DOOLJDQ��7KRPDV 6� 6 �� ,5/
��� 0DGGHQ��6WHSKHQ 3� �� ,5/
��� 0DQVILHOG��7RP 6�� 6 �� ,5/
��� 0F&DUWK\��*DUUHWW 6� �� ,5/
��� 6DOQD��(GPXQGDV %3� �� /78('0$
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5HJ$OLDV

��� $QGHUVHQ��3HWHU0XQN &6� �� 50'(1$/3+$
��� %HLQRULXV��$UWXUDV 3� �� 52/7838/.,1,1.$6
��� %\NRYDV��6HUJHMXV 3� �� /78%<.$6
��� &LJULQ��9LDFHVODY 3� �� /786/$9$
��� &LPRV��/HFK 3� �� 52/78/,2&+$
��� 'DXPDQWDV��3DXOLXV &3� �� /783$8/,.$6
��� +DQVHQ��*HUW(UOLQJ 3� 6 �� &52'(1%2660$1
��� -XUFLXNRQLV��-XVWLQDV 6�� �� 52/78-867,1$6
��� -XUJHOHYLFLXV��$UQROGDV 3� �� /789<7,6
��� .DURVDV��/LQDV 3� �� &52/78.$526$6
��� .DXIPDQLV��(ULNV &6� �� &52/78*/2&.0$5
��� .HOLXRWLV��6YDMXQDV 3� �� /7869$-.$
��� .HUXOLV��'HLYLGDV 3� �� /78'(,9,'$6
��� .RVDUHY��'PLWULM 3� �� &52/78',0.$
��� .XUDV��.HVWXWLV 6� �� /78.85$6
��� 0DOLQDXVNDV��(JLGLMXV 3� �� /780$/,1$
��� 0D]LOLDXVNDV��9ROGHPDUDV 3� �� 52/780$=,/$
��� 0LNXWLV��9LWDV 3� 6 �� 52/789,7$6
��� 0LQHOJD��$OIRQVDV 3� �� /787$,./86
��� 1DNURVLXV��5RODQGDV 3� �� 52/78$0$7(85
��� 1HPLUD��3DXOLXV 6�� �� 52/781(085$
��� 5DJXFNDV��9\WDXWDV 6�� �� 52/789<7$6
��� 5XWNDXVNDV��*HGLPLQDV 3� �� /78*('$6
��� 5XWNDXVNDV��6DXOLXV 3� �� 0'/78587.,6
��� 6DEDOLDXVNDV��9DLGDV %2�� �� 62/789$,282./,6
��� 6LHPDVKNR��$UWXU 3� �� 52/786,20$
��� 6LOGLDMHY��$QGUHM 5�� �� /78=/2-
��� 6LOGLDMHY��9LNWRUDV 5�� �� /789,.&(
��� 6LOGLDMHYDV��5LFDUGDV 3� - �� $/785,&.
��� 6NXNDXVNDV��.HVWXWLV 6�� �� /78.(6787,6
��� 6WDQNHYLFLXV��$XGULXV 5�� �� /78$8'5,86
��� 6WUD]GDV��$OJLUGDV 6�� 6 �� /780('=,272-$6
��� 6YHQWLFNDV��5DPXQDV 6�� �� &52/785$0$6
��� 7LQDXVNDV��5DLPRQGDV 3� �� 52/785$,0,6
��� 9DVNLQDV��3RYLODV 6� �� 52/78*5(,7$6
��� 9UXEOLDXVNDV��5RODQGDV 3� �� 52/7858%/,6
��� :HLVLQJHU��0DUN 6�� �� &52'(1
��� =YLFHYLFLHQH��9LGD 6� / �� &52/789,'$
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